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C mpesile octons of 1290 A 

1.Find the prtime foctomd zedton y 1240 uSirg hnee differren 

metts ds. 

Division method; Tree Diaqrtam' Mul+ipliodion Mehod; 
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hereferce, the Prome oe-terdeadion 1210= 2531 

2.md al the foerrs s1240 using he diegrom, 

rtee diagram; Thenefene Ihe Prtmefoctortlzacion f 1240 isa 
K1240 
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Caleutladion Jorr. all Soototrs 

The foelorcs o1240 one 34,5,8 
240 Ix 1240 The 

2x620 20, 2140, 
62, f24,15s 

248, 

620, 1240 
S 248 
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16X124 

20x 2 

31x40 

3.Finding he oll PTCme fachorgs o 1240 

1240 2x620 2x2x 3)0 2x2x1SS ?2'x5x3i 

Thener, the prime faetsri2rion 1240 is » 2,5.3 

4. Pimding the all Composite toetores o 1240, 1240 

Compasite faotorcs;- 

240 2 2, 620 210 , 8, 155, 5, 31, 

2,9, & 5, 31, 155 310 62 
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